b

O O
O
A
—L*)
o [ ]
1(/')8" NgTF
@ PILOT PORT
5
- = =
= =
4 3 CJ J ®/
SECTION A-A
SCALE 1 : 1

VIEW FROM 3 PORT SIDE

®

SIDE 'A'

1/4" NPTF
PILOT PORT

NOTES:

POSITION GASKET ON END OF VALVE SO
MOUNTING HOLES ALIGN,
BOTH ENDS (SIDE 'A' SHOWN)

1) ALWAYS GIVE VALVE MODEL AND PART NUMBER WHEN ORDERING PARTS.
2) MINIMUM SHIFT PRESSURE OF 12 PSI ON PISTON PILOT PORTS.

5 3
(EB) (P) (EA)

a1 [sk3 KIT - SUBPLATE MOUNTING, 3/8" SUBPLATE VALVES
0| 4 v SCREW, 5/16-18 X 3, HEX HEAD, PLATED
19| 4 |Vv-10455 STAR WASHER 5/16" STAINLESS STEEL.
18] 4 |V-10555 NUT, 5/16-18, HEX, STAINLESS STEEL
171 2 |v212 SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, STAINLESS STEEL
6] 1 |AVI4 NAMEPLATE, BLANK, FOR VALVES WITH SPRINGS OR DETENTS
5] 1 [v89 O-RING, BUNA-N, 70 DURD, AS-110, (REF 3/8 X 9/16 X 3/32), 1" & 2" SUBPLATE PILOT
“| 1 |PBECE PISTON - ENCAP, BLIND, 1/4" & 3/8" VALVE
B 1 v NUT, 3/8-16, HEX, PLATED
2| 1 v WASHER FLAT 3/8" CADIUM PLATED FOR ALL PISTON OPERATORS
1] 2 V115 U-CUP, 2-1/2 X 2-1/8 X 3/16, NITRILE
0] 1 |vw3A 21/2" PISTON - 2 POS,, 1/4" & 3/8" VALVE
9| 1 [BRV31 BARREL, SPR CTR, 1/4" & 3/8" PISTON VALVE
8 2 |V-165 GASKET - PISTON BARREL, 1/4" & 3/8" VALVE
7| 1 [pRov3 PISTON - 3 P0S., ROD END, 1/4" & 3/8" VALVE
6| 1 |v110 O-RING, BUNA-N, 70 DURD, AS-114, (REF 5/8 X 13/16 X 3/32), 1/4" SLEEVE, 1/2" SUB, STACK
5 1 |AY-PY3 SPRING CENTER SPOOL ASS'Y, PISTON OPERATOR, 1/4" & 3/8" VALVES
4 8 |V-38 SCREW, 10-24 X 3/4, SOCKET HEAD CAP
3| 2 [eces GASKET - END CAP, 1/4" & 3/8" VALVE B
2| 6 v O-RING, VITON, STD BODY, 1/4" & 3/8" VALVES s
1 1 |BP3-2E BODY - SOLID, PLAIN, NO PILOTS, ANODIZED, 3/8" SUBPLATE VALVE g
FLG| QTY | PARTNO | DESCRIPTION £
LIMITS ON DIMENSIONS I D = 0 AAA{ Imlﬂ}g%%%sﬂ :
omHeRWISE SPECIFID Glian a1z | (it ) hmnen s |2
DRAWN: RMcKenna DATE: 9/27/2014 CHECKED: KWalte DATE: 3/26/2015 s
SCALE: 1:1 SHEET: 1 OF 1 RELEASED: HWomack DATE: 3/26/2015 ;
TLE: PART NO.: 8
3/8" SUBPLATE, PISTON, 3 POS, g
SPR CTR, PISTON SHFT, CLSD CTR SPL PY3P 5
(=}

THE INFORMATION CONTAIQED WITHIN THIS DOCUMENT IS PROPRIETAR!

WITHOUT PRIOR WRITTEN CONSENT




